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Try FOR FREE QUESTION 42

What determines an Account& #8217;s Balance?

* the sum of all the Financial Transactions linked directly to the service agreements related to the account

* the amount recorded in the & #8220;Balance Due& #8221, field on an account

* thelogic defined in a plug-in spot on the Installations Option

* the sum of all the balances recorded in the & #8220;Balance Due& #8221; field on each service agreement related to the account
* the sum of all the Financial Transactions linked directly to the account

QUESTION 43

When the source of a Financial Transaction is canceled, what does it result in?

* The source Financial Transaction is deleted and a new reversal Financial Transaction is created.
* A new reversal Financial Transaction is created.

* The source Financial Transaction status is changed to & #8220;Canceled& #8221;.

* The source Financial Transaction is deleted.

* No change occurs.
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QUESTION 44

Which configuration steps are required to derive loss-adjusted kWh on a measuring component based on aloss factor value related
to aservice point?

* Configure a Service Point Characteristic Type and derivation algorithm, and then associate the algorithm to the Measuring
Component Type and the characteristic value to the service point.

* Configure an SQI and the derivation agorithm, and then associate the algorithm to the M easuring Component Type and SQI to
the service point.

* Configure afactor and derivation algorithm, and then associate the factor to the Measuring Component Type and the derivation
algorithm to the service point.

* Configure afactor and derivation algorithm, and then associate both to the Measuring Component Type and service point.

* Configure a Service Point Characteristic Type, factor, derivation algorithm, and Service Quantity Identifier (SQI), and then
associate the SQI and derivation algorithm to the Measuring Component Type and the characteristic value to the service point.

QUESTION 45

The base package usage transaction business object is represented by D2-UsageTransaction. The usage cal cul ation engine or process
drives the specifics of the usage to be calculated on this business object.

Based on this, which three configuration areas will have an impact on the usage cal culation process? (Choose three.)
* VEE rule

* TOU map

* Usage Rule

* Factor Override

QUESTION 46

Which two plug-in spots can call the rating functionality using base package-supplied algorithm types? (Choose two.)
* Adjustment Type &#8211; Adjustment FT Creation

* Billable Charge Template

* Bill Segment Type & #8211, Bill Segment Create

* Adjustment Type &#8211; Generate

* Bill Segment Type &#8211; Bill Segment FT Creation

QUESTION 47

On which three entities can proration be disabled? (Choose three.)
* Calculation Rule Business Object

* Bill Factor

* Calculation Rule

* Rate Version Calculation Group

* Rate Schedule

QUESTION 48
How many derived values can afinal measurement have in addition to the primary measured value?
* 2

* 15
* 10
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QUESTION 49

When a service agreement is created, it is based on atemplate called the Service Agreement Type (SA Type) and values may be
defaulted from a Start Option.

Which three attributes can get defaulted from a Start Option? (Choose three.)
* Terms and Conditions

* Serviceto bebilled

* Contract Quantities

* CISDivision

* Rate

QUESTION 50

Which two are &#8220;Are SP and Device Ready?& #8221; state algorithms for Enable Service? (Choose two.)
* Customer Device Compatibility Check

* Create Service Point

* Check for Measurement

* Create Usage Subscription

* Start Service Agreement

QUESTION 51

Which option correctly describes the high-level process from |oading measurements through cal culating usage?
* 1. Load Initial Measurements

2. Vadlidate, edit, and estimate Initial Measurements

3. Create Final Measurements

N

. Update Initial Measurements
1. Load Initial Measurements

*

N

. Verify, evaluate, and enter Initial Measurements

3. Create Final Measurements

N

. Calculate Usage
1. Load Initial Measurements

*

2. Vadlidate, evaluate, and estimate Initial M easurements

w

. Update Initial Measurements

N

. Calculate Usage
1. Load Initial Measurements

*

2. Validate, edit, and estimate Initial M easurements
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3. Create Final Measurements

4. Calculate Usage

QUESTION 52

Which statement is true about specifications?

* Specifications include the inspection history of an asset.

* Specifications apply only to assets and not to components.
* Specifications can include peer specifications.

* A single specification can only be used on one asset.

QUESTION 53

Which three statements are true about initial measurements, final measurements, and usage? (Choose three.)

* Usageisasynonym for bill determinants.

* Theinitial measurement data can be optionally stored in Raw format.

* A service point can have more than one initial measurement for the same period, but only one final measurement.
* Final measurements can be directly edited or updated by users or by automated processes as required.

* Usage isloaded in the application to generate final measurements.

QUESTION 54

How many service agreements are linked to a severance process?

* all service agreements that are connected to the initiating overdue process

* one

* any number defined by the business user

* zero &#8211; accounts are linked to severance processes

* all service agreements that are connected to the initiating collection process

QUESTION 55

Y our client has the following requirements:

Many customers are installing their own solar electrical generation equipment. When these customers generate more electricity than
required for their own use, the surplus can he exported back to the power grid.

In order to measure this generation, we have installed special scalar devices. These devices have separate registers to measure the
energy generated (export) and the energy received (import) from the National Grid. Both reads will be stored in kWh, but the import
is subtractive and export is consumptive.

What solution should you choose to configure the measuring component types for these specific requirements?

* Create two service points. one for subtractive import and the other for consumptive export.

* Create one new measuring component type for creating two measuring components (one for import and the other for export) that
will be linked to one scalar device.

* Create one new measuring component type for creating a new measuring component that will be linked to two different scalar
devices (one for import and the other for export).

* Create two new measuring component types (one for subtractive import and the other for consumptive export) to enable the
creation of two measuring components that will be linked to one scalar device.
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QUESTION 56
Measuring components are either subtractive or consumptive.

Which statement correctly describes these two concepts?

* Subtractive measuring components are associated only with water service, whereas consumptive measuring components are for
gas and electric services.

* Subtractive measuring components are used to measure demand, whereas consumptive measuring components are used to
measure how much was consumed since the previous reading.

*  Subtractive measuring components are associated with deductive meters, whereas consumptive measuring components are not.
* A subtractive measuring component& #8217;s consumption for a given period of time is the end measurement minus the start
measurement. A consumptive measuring component& #8217;s consumption is simply the measurement itself, and represents the
consumption for the period of time since the previous measurement was taken.

QUESTION 57
Within the application, operational devices can be assets or components.

Which two statements are true about components? (Choose two.)

* Components are attached to assets.

* Components have a disposition that tracks their location and status.
* Components can beinstalled at locations.

* Components are not a class of assets.

* Components can& #8217;t have specifications.

QUESTION 58

Which three statements are true about the different types of measuring components? (Choose three.)
* Seconds-per-interval (SPI) is one of the attributes of scalar measuring components.

* Only physical measuring components reference a device configuration.

* The termsregister and channel are synonyms for measuring component.

* The measuring component types are physical, standalone, scratchpad, and TOU.

* Scalar measuring components contain a single measurement for an arbitrary period of time.

QUESTION 59
A usage subscription must exist before usage transactions can be calculated for a specific service point.

Where do you configure the usage recipient?
* in the Usage Rule Type

* in the Service Point Type

* in the Device Type

*in the Measuring Component Type

* in the Usage Subscription Type
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The exam consists of 70 multiple-choice questions, which must be completed within 105 minutes. The questions are designed to test
the candidate's knowledge and understanding of the Oracle Utilities Customer Cloud Service 2022 solution, as well astheir ability to
apply that knowledge in real-world scenarios. The exam covers awide range of topics, including customer management, meter data
management, billing and payments, and customer self-service. Candidates who pass the exam earn the Oracle Utilities Customer
Cloud Service 2022 Implementation Professional certification, which is recognized as a valuable credential in the industry and can
lead to new career opportunities and increased earning potential.

The Oracle 1z0-996-22 exam, aso known as the Oracle Utilities Customer Cloud Service 2022 Implementation Professional exam,
isacertification test designed to validate the knowledge and skills of professionals who work with the Oracle Utilities Customer
Cloud Service. This exam is specifically aimed at those who are involved in the implementation and deployment of the Oracle
Utilities Customer Cloud Service, and it covers various topics related to this technology.
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